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A2 ¢ SAZDFHDI=

OPN=ENES= (CHe): ® )

T = Al = Al = Al -
& = > HE M 52 & = INE-L HEACK| ESH s 2

= Al 113,287 101,600 11,687 | & Al 113,287 101,600 11,687
| = =) 0 0 O|HI8XHE A HI 20,000 0 20,000
2 == 2 0 0 &AL HI 0 0 0
Xt 2 = 0 0 ojer s 2 4 4l 0 0 0
Bl 0 0 0[21 2 F 0 0 0
HE2R33 % 0 0 ojol & 2 0 0 0
ol XI 2 3l = 89,552 67,665 21,887 | Ol Xl = 93,287 101,600 28,313
o = = 0 0 Olnyzaczys 0 0 0
o X = g 535 935 A0 | ol =222l 24 0 0 0
JE = Y 23,200 33,000 N9,800|71 B XN = 0 0 0
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@ =2 (Sl &21)
= T = _
Z.2hELE =0 oK o oH = 2 sHEUW S
200 M2l 23,735 33,935 /10,200
210 ZaEA 2= 19,735 29,935 /10,200
213 =2 19,200 29,000 29,800
213-05 JIEtE42 19,200 29,000 19,800
O8=8AAN =2
19,200,000& * 14 = 19,200
216 OlXt==2 535 935 2400
216-01 2B0I201X42 535 935 A400
SHEZ 0kt 535
—3JI012
80,000,0008! * 0.65% = 500
—330=
9,000,000& * 0.17% = 15
230 KIZHZMI - =2 4,000 4,000 0
234 WEN= 4,000 4,000 0
234-02 JIEtHEH = 4,000 4,000 0
212 2P BEH=
4,000,000& = 14! = 4,000
700 EH=USLLHRHN 89,552 67,665 21,887
710 B82S 89,552 67,665 21,887
714 tIXIZ3l== 89,552 67,665 21,887
714-01 OIXI=al+= 89,552 67,665 21,887
OUXxl=z 2l=
89,552,000 * 14l = 89,552
= & & A 113,287 101,600 11,687
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A 113,287 101,600 1,687
NEEI=N 113,287 101,600 1,687
3D 202 20,000 0 20,000
SoZNE BH|(SAZDHHIID) 20,000 0 20,000
DIy 20,000 0 20,000
201 2Bt ey| 10,000 0 0,000
01 AFSmE 10,000 10,000 0 10,000
s ol me Ol R A

OB+0l bl S2BIE oTEY 2am 0,000
401 AlEHIL ST 10,000 0 0,000
o1 Al 10,000 10,000 0 0,000
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DR BN = A Eﬂm,ooo,ooo% * 14 = 10,000
WRES(SAIDH 93,287 101,600 £8,313
BHIE(SAZDHYIIR) 93,287 01,600 28,313
SRS 93,287 01,600 £8,313
602 0IXI2 93,287 01,600 £8,313
01 BRI 93,287 93,287 101,600 £8,313

OuxI2 93,287,0002 * 14! = 93,287
s & 2 113,287 101,600 1,687
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20153 DHXI 14,139 0 1,049 13,090
20168 &= 105 0 105 0

20178 0 0 0 0

20188 &= 36,948 0 51 36,897

20198 &= 34,822 0 383 34,439

20209 &= 20,448 0 798 19,650

202189 & 23,735 0 535 23,200

Al 130,287 0 3,011 127,276
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20154 DHX 8,000 8,000 0 0 0 0 0 6,139
201689 & 0 0 0 0 0 0 0 105
201789 & 2,000 2,000 0 0 0 0 0 21,910
20188 &= 5,000 5,000 0 0 0 0 0 31,948
20199 &= 2,000 2,000 0 0 0 0 0 32,822
20209 &= 0 0 0 0 0 0 0 20,448
20219 & 20,000 20,000 0 0 0 0 0 3,735
Al 37,000 37,000 0 0 0 0 0 93,287
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SIHSHSE ¢+ 20214
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20198 2SN 2020 CUEHAE@® | 2021HCLSHHA® 52(0-0)
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